
SAP ABAP table VAKE_FLAGNOP {Vake + Indicator 'No Validity Period for Condition Record'}

VAKE_FLAGNOP

KVEWE [CHAR (1)]

KOTABNR [NUMC (3)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

KNUMA [CHAR (10)]

KONA

MANDT [CLNT (3)]

KNUMA [CHAR (10)]
 VAKE_FLAGNOP-KNUMA = KONA-KNUMA 

0..N

0..N

T681

KVEWE [CHAR (1)]

KOTABNR [NUMC (3)]
 VAKE_FLAGNOP-KOTABNR = T681-KOTABNR 

0..N

0..N T681A

KAPPL [CHAR (2)]

 VAKE_FLAGNOP-KAPPL = T681A-KAPPL 
0..N0..N

T681V

KVEWE [CHAR (1)]

 VAKE_FLAGNOP-KVEWE = T681V-KVEWE 

0..N

0..N

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 VAKE_FLAGNOP-KSCHL = T685-KSCHL 

0..N

0..N


